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R A B G
15 3.6 4.2 7.2
19 4.8 5.4 8.4
25 6.6 7.2 10.2
27 7.2 7.8 10.8
31 8.4 9.0 12.0
33 9.0 9.6 12.6
37 10.2 10.8 13.8
39 10.8 1.4 14.4
45 12.6 13.2 16.2
51 14.4 15.0 18.0
65 18.6 19.2 22.2
71 20.4 21.0 24.0
81 23.4 24.0 27.0
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FXY CONNECTOR
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15 15FXY-RSM1-GAN-1-TB 3.6 4.2 7.7 2,500
Y 19 19FXY-RSM1-GAN-1-TB 4.8 5.4 8.9 2,500
2.05 A 25 25FXY-RSM1-GAN-1-TB 6.6 72 | 107 2,500
«Fﬁ 27 27FXY-RSM1-GAN-1-TB 72 | 78 | 113 | 2500
H-f-a-n 31 31FXY-RSM1-GAN-1-TB 84 | 90 | 125 | 2500
m a 33 33FXY-RSM1-GAN-1-TB 90 | 96 | 13.1 2,500
37 37FXY-RSM1-GAN-1-TB 10.2 10.8 14.3 2,500
39 39FXY-RSM1-GAN-1-TB 10.8 11.4 14.9 2,500
fmﬁﬁﬂf []m it Glbai 45 45FXY-RSM1-GAN-1-TB 126 | 132 | 167 | 2500
51 51FXY-RSM1-GAN-1-TB 14.4 15.0 18.5 2,500
9.6 65 65FXY-RSM1-GAN-A-TB 186 | 192 | 227 | 2500
1.75 B 71 71FXY-RSM2-HF-GAN-A-TB 204 | 21.0 | 245 2,500
81 81FXY-RSM2-HF-GAN-A-TB 23.4 24.0 | 275 2,500
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oo A B G D E
oo 15 3.6 4.2 4.8 5.1 6.0
- 19 4.8 5.4 6.0 6.3 7.2
0. THAX 0.3 25 6.6 7.2 7.8 8.1 9.0
513 ]% |0.3” 0.67°” 0.37%% - 27 7.2 7.8 8.4 8.7 9.6
Sze & g 31 8.4 9.0 9.6 9.9 10.8
r i = 33 9.0 96 10.2 10.5 11.4
f [ 37 10.2 10.8 11.4 1.7 12.6
il ‘ 39 10.8 11.4 12.0 12.3 132
o 45 12.6 132 13.8 14.1 15.0
) 51 14.4 15.0 15.6 15.9 16.8
o 65 18.6 19.2 19.8 20.1 21.0
038 LJ‘ 71 20.4 21.0 21.6 21.9 22.8
0 81 23.4 24.0 24.6 24.9 25.8
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